
Les	réponses	aux	énigmes	du	jeudi	21	septembre	
 

 
 
 
 
 
 
 

  

1er	étage,	2	cartes	
2ème	étage,	5	cartes		
3ème	étage,	8	cartes		
4ème	étage,	11	cartes	
5ème	étage	14	cartes	
6ème	étage	17	cartes	
La	somme	des	5	premiers	étages	donne	40.	
La	somme	des	6	premiers	étages	donne	57.	
	
On	pourra	construire	5	étages.		

Pierre	a	14	ans	à	cet	annivers
aire.	

1	+	2	+	3	+	...	+	13	+	14	=	105	

Le	notaire	propose	d’ajouter	son	cheval	aux	17	chevaux	du	grand-père.		
Il	y	a	donc	18	chevaux.	Le	premier	enfant	part	avec	neuf	chevaux,	le	second	avec	six	et	le	dernier	avec	deux.	2	+	6	+	9	égal	17.		
Il	reste	un	cheval,	le	notaire	repart	avec	son	propre	cheval.	


